
Topic 2 & 3:

Present time: present simple, present 

continuous. Stative verbs. Present tense 

contrast.

We use the simple present tense 

(indefinite) when it happens regularly 

or unceasingly

The formula for making a simple 

present verb negative is

do/does + not + [root form of verb] 

You can also use the contraction

don’t or doesn’t instead of do 

not or does not

The present continuous verb tense 

indicates that an action or 

condition is happening now, 

frequently, and may continue into 

the future

To form the present continuous, 

follow this formula:

To Be [Am, Is, Are] + Verb [Present 

Participle]









STATIVE vs ACTIVE verbs.

Choose correct answer:


